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WIER ML TEERRF CERTE) MERER (F2TR) MR

% # R - R B ¥ B B & 4@ W OE
[k 9,902,400 + 263,384 10, 165, 784
EEAGE 9,902, 400
BHERE 263, 384
T DA IR 9,902,400 x 53.85% ( 35% + (1 — 35%) ) 5,332,442
B 10, 165, 784 + 5,332, 442 15, 498, 226
—BREBES 15,498,226 x 53.85% ( 35% + (1 — 35%) ) — 4,020 8,341,774
£ 15,498,226 + 8,341,774 23, 840, 000
HEREALE 23,840,000 x 10.00% 2,384,000

EBREN 23,840,000 + 2,384,000 26, 224, 000



EERNRE ML TEERRF CERTE) MERER (F2TR) MR

£ L BRE - ART & B % 2 B ' & m E
BRI 10, 165, 784
RETES 10, 165, 784
AR AT 10, 165, 784
HRERER AT 9,902, 400
EREtETE 422, 500
1 ERETETE 1.00 215,100 215,100
=
2 BERE 1.00 207, 400 207, 400
=
FHlER ET 3, 796, 200
3 WEEHDRE 1.00 896, 600 896, 600
=
4 [FEiEER DR 1.00 1, 449, 800 1, 449, 800
=
5 KB DRE 1.00 1, 449, 800 1, 449, 800
=
MELEE 1,920, 200
6 HEIFEORE 1.00 1,061, 700 1,061, 700
=
1 BT IR ORE 1.00 353, 900 353, 900
=
S MEIEENHTE 1.00 504, 600 504, 600
=
ERMER 2,726, 600
9 HEHE 1.00 651, 200 651, 200
=
10 RIEERL 1.00 1,498, 000 1,498, 000



EERNRE ML TEERRF CERTE) MERER (F2TR) MR

£ L BRE - ART & B % 2 B ' & m E

11 ERBELOBRBERIERE 1.00 5717, 400 5717, 400
=

% - |E 338, 000

12 %3 - & 4.00 84,500 338, 000
&

BRE 226, 000

13 BE 1.00 226, 000 226, 000
=

B3 472,900

14 |MEEER 1.00 472,900 472,900
=

EEEE 263, 384

E=BRARE 93, 384

15 EBARE 1.00 93,384 93, 384
=

D3 170, 000

16 EBREM 1.00 170, 000 170, 000
=



RER-FEL/ v — MFLTEERBEF CERER) MERER (F2ITX) MRt
FE5:1
L5 REtEtE 1KY
% f I - BIRTiE BT £ B & # 5 &
FEHERAR (F%ET)
A 2.00 64, 800. 00 129, 600
HAf (A)
A 1.50 57, 000. 00 85, 500
& &t EZ8Eh - 1.00=K 215, 100. 00 215, 100
F5:2
&% RiAE 1%y
% f I - IRTiE BT = B & % 5 &
FEHERAR (F%ET)
A 1.00 64, 800. 00 64, 800
HAf (A)
A 1.00 57, 000. 00 57, 000
HAf (B)
A 1.00 47, 200. 00 47,200
HAf (C)
A 1.00 38, 400. 00 38, 400
& &t EZ8Eh - 1.00=K 207, 400. 00 207, 400
&5 :3
& RETEHORTE 1)
% b I - BIRTE BT = B & # 5 &
FEHERAR (F%ET)
A 2.00 64, 800. 00 129, 600
HAEf (A)
A 3.00 57, 000. 00 171,000
HAf (B)
A 5.00 47, 200. 00 236, 000
Af (C)
A 5.00 38, 400. 00 192, 000
Hifrg
A 5.00 33, 600. 00 168, 000
& i E%8eh : 1.00X 896, 600. 00 896, 600




REER-FEIT/\vr—> MIULT2sEE Gt R) MERER (520 K) SHMEst
BHE 4
B (HEBRORE L
% s B - BIRTE ) B B ff & #= % =
AR (BED
A 3.00 64, 800. 00 194, 400
HER (A)
A 5.00 57, 000. 00 285, 000
e (B)
A 11.00 47, 200. 00 519, 200
HEm (C)
A 10. 00 38, 400. 00 384, 000
Ba
A 2.00 33, 600. 00 67, 200
= 5 YEZEREDN 1. 00 1, 449, 800. 00 1, 449, 800
HE b
£ - HAKMBOBRE L
% o B - BIRTE E B B ff & H= % =
F R (55D
A 3.00 64, 800. 00 194, 400
HER (A)
A 5.00 57, 000. 00 285, 000
®Em (B)
A 11.00 47, 200. 00 519, 200
e (C)
A 10. 00 38, 400. 00 384, 000
Bia
A 2.00 33, 600. 00 67, 200
& 5 YEZERED 1. 00 1, 449, 800. 00 1, 449, 800




RER-FEL/ v — MFLTEERBEF CERER) MERER (F2ITX) MRt
HS:6
L T HEORE IEE1D)
% f I - BIRTiE BAf H = B & # 5 &
FAEHERAR (F%ET)
A 4.50 64, 800. 00 291, 600
HAf (A)
A 4.50 57, 000. 00 256, 500
HAf (B)
A 6.00 47, 200. 00 283, 200
HAf (C)
A 6.00 38, 400. 00 230, 400
& &t EZ8Eh - 1.00=K 1,061, 700. 00 1,061, 700
&5:7
&% T ITRROKRE 1)
% f I - IRTiE BAf H = B & % 5 &
FEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
HAf (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 2.00 38, 400. 00 76, 800
& i EZ8Eh - 1.00=K 353, 900. 00 353, 900
5:8
&% METEEOETE B
% b R - IRTE BART H B B & # 5 &
HAf (A)
A 3.00 57, 000. 00 171, 000
HAf (B)
A 3.00 47, 200. 00 141, 600
HAf (C)
A 5.00 38, 400. 00 192, 000
& &t E%8eh : 1.00X 504, 600. 00 504, 600




Rtz -/ \vr—

ML T 2EBRF CERMR) MERER (F2TR) 3R

F#5:9
2 HEHE IEE1D)
% f I - BIRTiE BT = B Ol %5 5 &
HEm (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 7.50 38, 400. 00 288, 000
Hifrg
A 8.00 33, 600. 00 268, 800
& i E28EH : 1.00= 651, 200. 00 651, 200
BFE .10
¥ EmEER B
% f I - IRTiE BARL = B Ol %5 i &
HED (A)
A 2.00 57, 000. 00 114, 000
AT (B)
A 4.00 47, 200. 00 188, 800
HAf (C)
A 11.00 38, 400. 00 422, 400
Hifrg
A 23.00 33, 600. 00 772, 800
& i E8EH : 1.00=% 1, 498, 000. 00 1,498, 000
BE 11
L IRHEE E DRSS RERS 1)
% f I - IRTiE BARL = B Ol %5 5 =&
e TC )
A 2.00 64, 800. 00 129, 600
AT (A)
A 3.00 57, 000. 00 171, 000
AT (B)
A 2.00 47, 200. 00 94, 400
Af (C)
A 3.00 38, 400. 00 115, 200
Hifrg
A 2.00 33, 600. 00 67, 200
& E8EH : 1.00=% 5717, 400. 00 577, 400




REER-FEIT/\vr—> MIULT2sEE Gt R) MERER (520 K) SHMEst
&S 12
2 - BE 1[4 Y
% b | - BIkHE ) ' B 5 % =
EEETE )
A 0.50 64, 800. 00 32, 400
A (A)
A 0.50 57, 000. 00 28, 500
A (B)
A 0.50 47, 200. 00 23, 600
= it YEZERES - 1.00[E 84, 500. 00 84, 500
£S5 13
2% . BE 154y
% b B - BIkHE E ' B e % =
EEETE )
A 1.00 64, 800. 00 64, 800
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 1.00 47, 200. 00 47, 200
=) it YEZERED - 1.00K 226, 000. 00 226, 000
E#S 14
B BEEER L
% b s - BIkHE 0 B B T % =
X fEERE (%3
A 1.50 64, 800. 00 97, 200
A (A)
A 2.50 57, 000. 00 142, 500
A (B)
A 2.50 47, 200. 00 118, 000
HEf (C)
A 3.00 38, 400. 00 115, 200
= it YEZERED - 1.00K 472, 900. 00 472,900




RER-FEL/ v — ML TEREEF (X)) MERER (B2 X) FMEREtT
&S :15
&% EHARE 1LY
2 £ g - BIRTE By = B Ol %8 W OE 5 &
EHERARE
= 1.00 93, 384.00 93, 384
= it 1YE%HEH - 1.00K 93, 384.00 93, 384
&S 16
2 EBHRR 1KLY
2 £ g - BIRTE By = B Ol %8 W OE 5 &
EBHRRE
= 1.00 170, 000. 00 170, 000
= it 1YE%HEH - 1.00K 170, 000. 00 170, 000






